

DEPARTMENT OF ENVIRONMENT AND NATURAL RESOURCES Provincial Environment and Natural Resources Office Agusan del Norte



REQUEST FOR QUOTATION/ PROPOSAL

(thru NEGOTIATED PROCUREMENT under SMALL VALUE PROCUREMENT , Sec. 53.9)
(GOODS)

PR NO: 2024-11-375

MODE OF PROCUREMENT: SMALL VALUE PROCUREMENT

PR DATE 11-26-2024

RFQ NO:2024-11-181

END-US CENRO-TUBAY ABC: 740,005.00 DATE PREPARED: 11-29-2024 CLOSING DATE: 12-05-2024 CLOSING TIME: 08:00AM

Dear Sir/Ma'am

The Department of Environment and Ntural Resources CARAGA Region, Brgy. Ambago, Butuan City is inviting of known qualificationssuppliers/distributors/contractors for a bid proposals covering the hereunder project:

NO NO	ARTICLE DESCRIPTION		UNIT	DENR ABC		SUPPLIER'S QUOTED PRICE (Php	
	PROCUREMENT OF TRANSFORMER AND OTHER ELECTRICAL MATERIALS FOR CENRO-TUBAY			UNIT COST	TOTAL COST	Unit Price	Total Price
1	P 50 kVA Single Phase Distribution Transformer Pri: 7620/13200 V Wye, Sec: 120/240 V Delta Double Bushing, Copper to copper winding, Brand new:provide manufacturer certificate and calibration certificate	1	pc.	200,000.00	200,000.00		
2	Current transformer (CT), 200:5A	2	pcs.	9,000.00	18,000.00		
3	kWhr meter, Kv2c/9s/meter base	1	set	32,000.00	32,000.00		
4	Cut out assembly (Polymer)	3	sets	9,950.00	29,850.00		
5	Lightning arrester (Polymer)	6	pcs.	2,000.00	12,000.00		
6	400 A Circuit breaker, 3 pole with enclosure	1	set	36,000.00	36,000.00		
7	Crossarm steel pin	4	pcs.	210.00	840.00		
8	Pin type insulator	4	pcs.	300.00	1,200.00		T
9	#2 Aluminum Conductor Steel Reinforce (ACSR) cable (for primary side balance)	485	meters	300.00	145,500.00		
10	#4/0 (100mm2) stranded THW copper cable (for secondary side)	80	meters	1,500.00	120,000.00		
11	Pole clamp (Transformer hanger)	2	pcs.	2,950.00	5,900.00		
12	7 strand guy wire	110	ft	35.00	3,850.00		
13	Pole clamp RL Type	3	pcs.	460.00	1,380.00		
14	Pole clamp CA Type	- 7	pcs.	460.00	3,220.00		

15	Suspension insulator (Polymer)	12	pcs.	2,100.00	25,200.00		
16	Stirrup clamp	9	pcs	1,800.00	16,200.00		
17	Hotline clamp	9	pcs	750.00	6,750.00		
18	Clamp dead end	12	pcs	700.00	8,400.00		
19	Dead end strain clamp 1/10	8	pcs	2,000.00	16,000.00		
20	Eye nut 5/8	12	pcs	145.00	1,740.00		
21	Eye bolt 5/8 x10'	3	pcs	145.00	435.00		
22	Crossarm, 8'	7	pcs	145.00	1,015.00		
23	Machine bolt, 5/8 x 14"	1	pc.	220.00	220.00	The second secon	CERTIFIC CONTRACTOR CO
24	Machine bolt, 5/8 x 10"	4	pcs.	190.00	760.00		
25	Machine bolt, 1/2 x 6"	2	pcs.	200.00	400.00	***************************************	· ·
26	Ground rod, 5/8 x 10"	2	pcs.	1,500.00	3,000.00		
27	Double arming bolt, 5/8 x 20"	10	pcs.	310.00	3,100.00		
28	Ground rod clamp, 5/8x 10"	4	pcs.	877.50	3,510.00		
29	Sidewalk fixture	2	pcs.	2,260.00	4,520.00	***************************************	
30	Fuselink, 6 amps	3	pcs.	800.00	2,400.00		
31	Secondary rack, 3 pole with 3 spools	2	sets	550.00	1,100.00		
32	Spool insulator, 1 3/4	3	pcs.	50.00	150.00		
33	Solderless connector	6	pcs.	950.00	5,700.00		
34	Steel brace, 28"	10	pcs.	200.00	2,000.00		
35	Alley arm brace, 7 ft	2	pcs.	2,000.00	4,000.00		
36	Washer, 4x4 x 1/2"	3	pcs.	180.00	540.00	SANT STATE CONTROL OF THE SANT STATE OF THE SANT	
37	Washer, 2 1/4" x 2 1/4" x 3/16"	37	pcs.	40.00	1,480.00		
38	Washer, RD, 1 3/8	2	pcs.	65.00	130.00		
39	Locknut, 5/8"	37	pcs.	30.00	1,110.00		
40	Locknut, 3/8"	10	pcs.	25.00	250.00		
41	Locknut, 1/2"	2	pcs.	20.00	40.00		
42	Secondary swing clevis	3	pcs.	160.00	480.00		
43	3" PVC pipe	2	lenghts	180.00	360.00		
44	3" PVC elbow	3	pcs	65.00	195.00		
45	3" Entrance cap	1	рс	2,000.00	2,000.00	and a second and a second	
46	Bolt carriage 3/8 x 4 1/2	10	pcs	50.00	500.00		
47	Armor tape	6	pcs	25.00	150.00		
48	Brace side arm, 7'	2	pcs	1,150.00	2,300.00		
49	Connector parallel groove comp.	9	pcs	65.00	585.00		
50	Clamp guy, 3-bolt	6	pcs	210.00	1,260.00		
51	Guy attachment	3	pcs	185.00	555.00	and the second s	
52	Clamp anchor red bonding	3	pcs	50.00	150.00		
53	Anchor rod, 7"	3	pcs	730.00	2,190.00		
54	Anchor log, 4"	3	pcs	610.00	1,830.00		
55	Split bolt connector	4	pcs	790.00	3,160.00		
56	#12 (3.5 mm2) THW copper wire	-	box	4,400.00	4,400.00		
		- 		4,400.00	7,400.00		
-	TOTAL				740,005.00		

Documentary Requirements: (to be submitted together with the proposal) 1. Mayor's/Business Permit; 2. PhilGEPS Reg. Number/PhilGEPS Certeficate; 3. DTI Registration Certificate; 4. BIR Registration Certificate The Procuring Entity is inviting all suppliers/distributors/contractos to submit on specified date, a FINAL PROPOSALS from a legally, technically and financially capable suppliers/distributors/contractors. The Procuring Entity shall draw up a list of at least three(3) suppliers/distributors/contractors of known qualifications which will submit proposal that meet the Procuring Entity's minimum technical requirement and should not exceed the ABC. Interested suppliers/distributors/contractors may obtain application forms and further information from 8:00 A.M to 5:00 P.M., Monday to Friday at the BAC Secretariat's Office, DENR PENRO-AND, Tiniwisan Butuan City.	
2. PhilGEPS Reg. Number/PhilGEPS Certeficate; 3. DTI Registration Certificate; 4. BIR Registration Certificate The Procuring Entity is inviting all suppliers/distributors/contractos to submit on specified date, a FINAL PROPOSALS from a legally, technically and financially capable suppliers/distributors/contractors. The Procuring Entity shall draw up a list of at least three(3) suppliers/distributors/contractors of known qualifications which will submit proposal that meet the Procuring Entity's minimum technical requirement and should not exceed the ABC. Interested suppliers/distributors/contractors may obtain application forms and further information from 8:00 A.M to 5:00 P.M., Monday to Friday at the BAC Secretariat's Office, DENR PENRO-AND, Tiniwisan	
Certeficate; 3. DTI Registration Certificate; 4. BIR Registration Certificate The Procuring Entity is inviting all suppliers/distributors/contractos to submit on specified date, a FINAL PROPOSALS from a legally, technically and financially capable suppliers/distributors/contractors. The Procuring Entity shall draw up a list of at least three(3) suppliers/distributors/contractors of known qualifications which will submit proposal that meet the Procuring Entity's minimum technical requirement and should not exceed the ABC. Interested suppliers/distributors/contractors may obtain application forms and further information from 8:00 A.M to 5:00 P.M., Monday to Friday at the BAC Secretariat's Office, DENR PENRO-AND, Tiniwisan	
4. BIR Registration Certificate The Procuring Entity is inviting all suppliers/distributors/contractos to submit on specified date, a FINAL PROPOSALS from a legally, technically and financially capable suppliers/distributors/contractors. The Procuring Entity shall draw up a list of at least three(3) suppliers/distributors/contractors of known qualifications which will submit proposal that meet the Procuring Entity's minimum technical requirement and should not exceed the ABC. Interested suppliers/distributors/contractors may obtain application forms and further information from 8:00 A.M to 5:00 P.M., Monday to Friday at the BAC Secretariat's Office, DENR PENRO-AND, Tiniwisan	
The Procuring Entity is inviting all suppliers/distributors/contractos to submit on specified date, a FINAL PROPOSALS from a legally, technically and financially capable suppliers/distributors/contractors. The Procuring Entity shall draw up a list of at least three(3) suppliers/distributors/contractors of known qualifications which will submit proposal that meet the Procuring Entity's minimum technical requirement and should not exceed the ABC. Interested suppliers/distributors/contractors may obtain application forms and further information from 8:00 A.M to 5:00 P.M., Monday to Friday at the BAC Secretariat's Office, DENR PENRO-AND, Tiniwisan	
PROPOSALS from a legally, technically and financially capable suppliers/distributors/contractors. The Procuring Entity shall draw up a list of at least three(3) suppliers/distributors/contractors of known qualifications which will submit proposal that meet the Procuring Entity's minimum technical requirement and should not exceed the ABC. Interested suppliers/distributors/contractors may obtain application forms and further information from 8:00 A.M to 5:00 P.M., Monday to Friday at the BAC Secretariat's Office, DENR PENRO-AND, Tiniwisan	
The deadline for the submission of bid proposals will be on <u>DECEMBER 05, 2024</u> Qualified proposals will be notified of award and contract execution. The Department of Environment and Naturl Resources PENRO-ADN has the rights to reject any proposals, annul, or not award the contract at any time prior to contract award, without thereby incurring any liability to	
the affected suppliers/distributors/contractors in accordance with Sec.41 of Revised IRR9184 FEC. DACUMENT DMO-V/Chief TSD BAC, Chair	
Signature Over Printed Name	
Company Name	
Address Canvass By:	
Tel No. /Cellphone No. / e-mail address	

TERMS AND CONDITIONS

- 1. Service Providers shall provide correct and accurate information required in this form
- 2. Service Providers may quote for any or all items, unless otherwise stated.
- 3. Price quotation/s must be valid for a period of sixty (60) caledar days from the closing date.
- 4. Price quotation/s, to be dominated in Philippine Pesos shall include all taxes, duties and/or levies payable.
- 5. Price quotations exceeding the Approved Budget for the Contract shall be rejected.
- 6. Award of Contract shall be made to the lowest calculated and responsive offer which complies with the minimum technical specifications and other terms and conditions stated herein.
- 7. Any interlineations, erasures or overwriting shall be valid only if they are initialed by the authorized representative of the Service Provider
- 8. The item/s and/or services shall be delivered according to the requirements specified herein/attached Terms of Reference.
- 9. The DENR shall have the right to review/examine submissions relative to the project to confirm confirmity to the project requirements
- 10. Payment shall be made in accordance with the Terms of Conditions of the Contract.
- 11. Liquidated damages equivalent to one tenth of one percent (0.1%) of the value of contract not delivered within the prescribed completion period shall be imposed per day of delay. The DENR may rescind the Contract once the cumulative amount of liquidated damage reaches ten percent (10%) of the amount of the Contract, without prejudice to other courses of action and remedies open to it